一、交际英语（共5题）
1. Could I borrow your laptop because mine is broken?—____
A. No, it’s expensive B. Yes, you can borrow it.
C. No, you can’t C. Sure, here you are.

2. What about throwing a party to celebrate your graduation this Saturday?—____
A. Why not? A fantastic idea! B. I have no idea.
C. No, I can’t. D. Of course not. I am busy.

3. Scavo’s Pizza. How can I help you?—____
A. Thank you for your help. 
B. Hi, I’d like to order a pizza please.
C. No, I don’t need. D. Yes, help me please.

4. Could you please tell me how to get to the nearest post office?—____
A. No, certainly not. B. I’m not sure.
C. It’s on the left corner just ahead. D. Don’t mention that.

5. What does Tom look like?—____
A. He is tall and thin. B. He looks very well.
C. He likes sports a lot. D. He looks like his father. 

二、阅读理解（共10题）
Passage 1
　　The often criticized child of the industrial age, advertising, has grown as societies have become more industrialized and, therefore, more commercialized. No modern industry or company can survive without advertising; it is the vital link between the producer and the customer. If advertising were abolished, as many people have suggested it should be, the public and the companies that advertise would suffer a considerable loss.
　　Most people think of television as an inexpensive source of entertainment. television’s primary purposes, however, is not to provide an entertainment service; except for government-owned networks, it exists in order to promote producers for companies. Unless the television industry received income from advertising, watching television would be at least as expensive as going to the movie.
　　Like television, many magazines and newspapers exist primarily to sell products. In some cases, the stories, pictures, and editorials（社论） simply attract people to buy a particular publication. Once a person begins to read, there is no escaping the advertising.
　　Advertising not only pays for, or helps pay for, much of the mass media; it also provides the consumer with news from industry. This news functions first to influence the buyer to choose one product over another. It also informs people of new products that are important in their lives, for example, the development of salt-free butter for heart patients, or the development of tires that prevent skidding（侧滑） on wet pavement.
　　Advertising does not usually increase the total number of products sold; it does help determine which company sells more of which products. Its main function is to relay news from the manufacturer to the consumer. Since this is a necessary service, advertising will remain a part of people’s everyday lives and a part of every company’s budget.
6. According to the passage, modern industry or company can’t survive ____.
A. if advertising continues to exist
B. if the link between the customers and manufacturers remains good
C. if “the criticized child” dies out
D. if societies have become more industrialized
7. From the passage, we may figure out that “vital” means ____
A. direct B. important C. only D. visible
8. According to the passage, the main purpose of television industry is ____.
A. to make money from customers
B. to advertise for companies
C. to provide entertainment service
D. to persuade people to buy new types of television

9. The main function of advertising is ____.
A. promoting products for companies 
B. informing public of new products 
C. influence buyers
D. all of the above
10. Which of the following is NOT true to advertising?
A. advertising does not always increase the sales.
B. Advertising serves to repay information from buyers to producers.
C. Advertising is and will continue to be a necessary part of everyday lives.
D. Some people suggested that advertising should be a part of every company’s budget.

Passage 2
　　The body of an animal may well be compared with some machine like a locomotive engine （机车）. Indeed, the animal body is a machine. It is machine composed of many parts doing some particular kind of work for which a particular kind of structure fits it. All the parts are dependent on each other and work together for the 　　accomplishment of the total business of the machine. The locomotive must be provided with fuel, such as coal or wood or other combustible（易燃的）substance, the consumption of which provides the force or energy of the machine. The animal body must be provided with fuel, which is called food, which similarly provides the energy of the animal. Oxygen must be provided for the combustion of the fuel in the locomotive and of the food in the body. The locomotive is composed of special parts: the fire box for the storage and combustion（燃烧）of fuel; the steam pipes for the carriage of steam; the wheels for locomotion（移动）; the chimney for throwing off waste. The animal body is similarly composed of such parts as the stomach for the storage and digestion of food, the organs for the throwing off of waste, the blood vessels for the carriage of oxygen and food-holding blood, the legs or wings for locomotion.
6. The body of an animal is like a locomotive in that ____.
A. it is composed of many parts that work just like different parts of a locomotive.
B. it can do some particular kind of work.
C. it works like all the machines in the world.
D. both the animal and the locomotive need coal or wood as their fuel.
7. Every part of the animal body ____.
A. works independently 
B. works dependently on each other
C. looks like the same as that of a machine 
D. has the same structure as that of a machine
8. The energy of an animal is provided by ____.
A. throwing off waste
B. the combustion of fuels such as coal or wood
C. consumption of food
D. the carriage of blood
9. The function of animal’s legs is like ____ of a machine.
A. the wheels 　B. chemistry 
C. steam pipes 　D. the fire box
10. The steam pipes of a locomotive work like the ____ of an animal body.
A. stomach 　B. blood vessels 
C. legs 　　　D. wings

三、词汇与语法（共5题）
16. Scientists will ____ new methods to deal with the deadly diseases, such as cancer.
A. make up 　B. hold up 　C. turn up 　D. come up with
17. University professors don’t often have much free time as their work ____ all their time.
A. takes after 　B. takes up 　C. takes over　 D. takes in

18. My classmates, together with my English teacher, ____ New York University next week.
A. are going to visit 
B. is going to visit 
C. have visited 
D. has visited 
19. Believe it or not, last year, Eva earned ____ her husband, who has a better position in a big joint venture.
A. much as twice as
B. as twice much as 
C. twice as much as 
D. as much twice as
20. Let’s now suggest that a person ____ twice before he or she takes actions.
A. thinks B. thinking C. think D. thought

四、完形填空（共10题）
Coffee and tea are the most popular __21__ in the world. Coffee takes the fancy of most Canadians. Many Canadians prefer to start their day __22__ a cup of coffee. At work, they may take a coffee break, which is a period of time __23__ people stop and relax for a few minutes over a cup of coffee or a snack.
__24__ is coffee so popular? For one thing, coffee has a rich, strong taste that many people like. For another, many people like coffee in the morning because it helps them __25__ quickly. Coffee has caffeine in it, and caffeine gives people more energy.
On the other hand, every day, millions of people all over the world drink tea. Tea is the __26__ drink of China, Japan, England and Russia. In England, it is a custom to drink tea in the afternoon. In Japan, drinking tea is also a social __27__ and there are special __28__ for tea drinking.
Tea comes from tea leaves. We make tea by pouring boiling water on __29__ tea leaves. People usually drink hot tea, but is can be served cold. Some people like to drink tea with milk or cream. Other people __30__ milk or cream in tea, but they put in honey, sugar or lemon. Tea also has some caffeine in it.
21. A. drinks　 　　　　B. juice　 　C. water　 　　　D. soft drinks
22. A. from 　　　　 　B. in 　　　　C. on 　　　　　D. with
23. A. for 　　　　　　B. when　 　　C. that 　　　　D. to
24. A. Why 　　　　　B. When　 　　C. What 　　　　D. When
25. A. move up 　　　B. wake up 　　C. come up　 　D. turn up
26. A. individual 　　 B. general　 　　C. national　 　　D. favorite
27. A. phenomenon 　B. custom 　　　C. ritual 　　　D. belief
28. A. methods 　　　B. ways 　　　　C. beliefs　　　 D. rules
29. A. dry 　　　　　　B. drying 　　　C. dried 　　　D. fresh
30. A. hate 　　　　　B. prefer 　　　　C. enjoy　 　　D. love

五、英译汉（共3题）
31. Crops grow well in the south.
32. Bill hit his car into a wall last night.
33. I don’t know who broke the window.

六、写作（共1题）
Instructions：建议你在30分钟之内，根据下面所给的题目用英语写出一篇不少于80词的短文。
A Good Teacher to Remember 
我一生中有愈多老师，其中最好的老师是……
他（她）的性格及教学方法给我留下了深刻的印象。

一、交际英语（共5题）
1. D
　　题干中第一句话的意思是：我能借用一下你的笔记本电脑吗，因为我的坏了？选项A意为“不能，它 很昂贵”；选项B意为“是的，你能借”；选项C意为“不可以，你不能”：选项D意为“当然可以，给你”。本题是向他人借东西。在回答这类问话时，如果是肯定的回答，一般就说“Sure”并随即把对方要借的东西递过去，并说“Here you are”，因此选项D为正确答案。选项B也是一个肯定回答，但只是说了“是的，你能借”却不把东西拿给人家，显然不合情理。至于选项A和选项C，二者都是否定的回答，但是太直接了， 不符合礼貌原则，在日常对话中一般不这么说，因此也都可以排除。
2. A
　　题干中第一句话的意思是：我们这个周六举行一个晚会来庆祝你毕业怎么样？选项A意为“为什么不呢？ 这个想法太棒了”；选项B意为“我不理解（不明白）”；选项C意为“不，我不能”；选项D意为“当然不能， 我很忙”。本题是向其他人提出建议。选项A说“为什么不呢？这个想法太棒了”，这显然是一个非常恰当的肯定回答。选项B不符合题意；选项C太突兀了，而且后面没有任何解释，不可能在日常对话中出现；选项D太不礼貌了，因此都可以排除。
3. B
　　题干中第一句话的意思是：Scavo比萨店。您吃点什么？选项A意为“谢谢你的帮助”；选项B意为“嗨，请给我订做一个比萨饼”；选项C意为“不，我不需要”；选项D意为“是的，请帮助我”。本题考查的是电话订餐用语。分析所给出的对话部分，可知这应该是一个电话对话。有人给Scavo’s Pizza（一个pizza店的名字）打电话，接电话的人问对方想吃点什么（“How can I help you?”），回答的人就应该说他想要什么，因此选项B，即“我想订一个比萨饼”符合题意，应该是正确答案。其他的选项显然都不符合常理，可以排除。
4. C
　　题干中第一句话的意思是：你能告诉我去最近的邮局该怎么走吗？选项A意为“不，当然不能”；选项B意为“我不确定”；选项C意为“就在前面左边的拐角处”；选项D意为“别提那个了”。在回答他人问路的时候，如果是知道就应该说出该怎么走，所以不难看出正确答案应该是C。如果表示不知道，也不能用选项A和选项D来回答。选项B的回答比较贴近，但即使不知道，也应该有礼貌地回答，即加上“Sorry”或“I’m sorry”才更符合礼貌原则。
5. A
　　题干中的一句话的意思是：汤姆长得什么样？选项A意为“他又高又瘦”：选项B意为“他看起来身体不错”：选项C意为“他非常喜欢运动”：选项D意为“他看起来像他的父亲”。本题是向他人询问某人的长相，回答应该描述汤姆的长相，正如选项A所述（他又高又瘦），所以选项A应该是正确答案。选项B所答非所问，不符合要求；选项C把问句中的介词like （像⋯⋯）错误地理解成了动词（喜欢）；对于选项D，问话的人连汤姆本人得长得什么样都不知道，有可能也不知道他的父亲长得什么样，所以这句话也没有什么意义，因此都可以排除。

二、阅读理解（共10题）
6. C
　　细节题。题干的意思是：根据本文，现代工业和公司在什么条件下不能幸存？选项A意为“如果广告继续存在”；选项B意为“如果消费者和生产者之间的纽带维系的良好”；选项C意为“如果这个‘被批判的孩子’灭绝了”；选项D意为“如果社会变得更加工业化了”。从文章第一段的第二句话“No modern industry or company can survive without advertising…”可以看出，正确答案应该是选项C，也就是指advertising 不存在了。
7. B
　　词义猜测题。题干的意思是：从文章中我们可以推测出“vital”的意思是什么？选项A意为“直接的”；选项B意为“重要的”；选项C意为“唯一的”；选项D意为“看得见的”。从文章第一段的第二句和第三句话“No modern industry or company can survive without advertising; it is the vital link between the producer and the customer. If advertising were abolished, as many people have suggested it should be, the public and the companies that advertise would suffer a considerable loss.”可以进行综合的推断，第二句话的前半句说“没有广告，现代化的工业和公司都不可能幸存”，由此可以推出第二句话的后半句，即“广告应该是生产者和消费者之间的至关重要的联系”。然后再根据第三句话的内容可以进一步判断出正确答案应该是选项B。 
8. B
　　细节题。题干的意思是：根据文章，电视工业的主要目的是什么？选项A意为“从消费者那儿挣钱”；选项B意为“为公司做广告”；选项C意为“提供娱乐服务”；选项D意为“说服人们购买新型的电视机”。根据文章第二段的第二句话“Television’s primary purposes, however, is not to provide an entertainment service; except for government-owned networks, it exists in order to promote products for companies.”可知，“除了一些政府拥有的网络外，电视的主要目的不是为了提供娱乐服务，它的存在是为了给公司促销商品”，也就是为了给公司做广告，因此正确答案应该是选项B。 
9. D
　　细节题。题干的意思是：广告的主要功能是什么？选项A意为“为公司促销产品”；选项B意为“让公众知晓新的产品”；选项C意为“影响消费者”；选项D意为“上面所有的功能”。从文章第二段的第二句话可知，广告的主要目的就是它的主要功能，即“为公司促销商品”，因此选项A所讲的内容是广告的功能之一；从文章第四段的第二句话“This news functions first to influence the buyer to choose one product over another.”可知，广告可以“影响购买者选择某种产品而不选择另一种”，所以选项C所讲的内容也是广告的功能之一；从文章第四段的第三句话“It also informs people of new products that are important in their lives…”可知，“广告还可以让人们知晓他们生活中重要的新产品”，因此选项B所讲内容也是广告的一个功能。因此，正确答案应该是选项D。
10. B
　　细节题。题干的意思是：下面哪一项对于广告来说是不正确的？选项A意为“广告不一定总能增加销售”；选项B意为“广告负责把信息从购买者传给生产者”；选项C意为“广告现在是、 将来依旧是日常生活的必要组成部分”；选项D意为“有人建议广告应该成为每个公司预算的一部分”。从文章最后一段的第一句话“advertising does not usually increase the total number of products sold…”（广告通常不会增加卖出产品的总数量）可知选项A 是正确的陈述。 从文章最后一段的最后一句话“Since this is a necessary service, advertising will remain a part of people’s everyday lives and a part of every company’s budget.”可知选项C和选项D的陈述都和原文相符。从最后一段的第二句话“Its main function is to relay news from the manufacturer to the consumer.”（它的主要功能是把消息从生产者传递给消费者）可知选项B得陈述正好和原文相反，所以选项B应该是正确答案。
11. A
　　细节题。题干意思是：动物的身体就像一部火车头是因为什么。选项A意为“它由许多像火车头一样不同的部分构成”；选项B意为“它能够做一些特殊种类的工作”；选项C意为“它像世界上所有的机器一样工作”；选项D意为“动物和火车头都需要煤或木头作为它们的燃料”。从文章的第三句话“It is a machine composed of many parts doing some particular kind of work for which a particular kind of structure fits it.”可知正确答案应该是选项A.

12. B
　　细节题。题干的意思是：动物身体的每一部分怎么样？选项A意为“独立的工作”；选项B意为“工作起来相互依赖”；选项C意为“看起来和机器的部件一样”；选项D意为“和机器部件有一样的结构”。从文章的第四句话“All the parts are dependent on each other and work together”可知正确答案应该是选项B。
13. C
　　细节题。题干的意思是：动物的能量是由什么提供的？选项A意为“跑出废物”；选项B意为“燃烧像煤或木头之类的燃料”；选项C意为“对食物的消耗”；选项D意为“携带血液”。从文章的第六句“The animal body must be provided with fuel ,which is called food ,which similarly provides the energy of the animal.”可以判断正确答案应该是选项C，既由消耗食物来提供的。
14. A
　　细节题。题干的意思是：动物腿的功能正如机器的什么部位？选项A意为“轮子”；选项B意为“烟囱”；选项C意为“蒸汽管道”；选项D意为“炉火箱”。文章的倒数第二句话中提到了火车头是用轮子进行运动的——“the wheels for locomotion”,又在最后一句话中提到动物是用腿和翅膀进行运动的——“the legs or wings for locomotion”,因此可以判断动物的腿就相当于机器的轮子，故正确答案为选择A。
15. B
　　细节题。题干的意思是：火车头的蒸汽管道工作起来就如同动物身体的什么部位？选项A意为“胃”；选项B意为“血管”；选项C意为“腿”；选项D意为“翅膀”。文章的倒数第二句中提到“the steam pipes for the carriage of steam”,而最后一句话又提到“the blood vessels for the carriage of oxygen and food-holding blood”,二者都是用来运送体内的能源（steam 或oxygen and food-holding blood）,所以功能相同，因此可以判断出正确答案应该是选项B。 

三、词汇与语法（共5题）

16．D
　　题干的意思是：科学家们将提出新的对付致命的疾病，如癌症的新方法。本题考查的是up 构成的几个动词短语的区别。make up 意为“补，虚构，编辑，化妆”；hold up意为“举起，支撑，继续下去，阻挡，拦截”；turn up 意为“出现，折起，卷起，突然发生”；come up with 意为“赶上，提出，拿出，想出”。根据句子的意思可知，正确答案应该是选项D。 
17. D
　　题干的意思是：大学的教授们通常没有太多的自由时间，因为他们的工作占据了他们所有的时间。本题考查的是take 构成的几个动词短语的区别。 take after 意为“长得像”；take up 意为“占据，开始从事，继续，吸收”；take over 意为“接收，接管”；take in 意为“接受，吸收，理解，欺骗”。根据句子的意思可知，正确答案应该是选项B。
18. A
　　题干的意思是：下星期我的同学们和我的英语老师要去参观纽约大学。本题考查的是主谓一致的问题。当句中有together with 引导的伴随状语时，句子谓语动词的人称和数应该和句子主语的人称和数保持一致，本句的主语是my classmates，谓语动词应该用复数形式，因此可以排除选项B 和选项D。又因为句子的时间状语是next week，句子应该用一般将来时，所以正确答案应该是选项A。 
19. C
　　题干的意思是：信不信由你，去年，Eva挣的钱是她在一个合资企业有个更好的职位的丈夫的两倍。本题考查的是表示倍数的句子的语序问题。表示倍数的句子一般是固定的语序，即：倍数+as+形容词或副词+as，故正确答案应该是选项C。
20. C
　　题干的意思是：现在我们建议一个人在采取行动之前要三思。本题考查的是虚拟语气的用法。当suggest表示“建议”时，它后面宾语从句子的动词要采用虚拟语气的形式，即should+动词原形，而且should 可以省略，因此选项C为正确答案。

四、完形填空
21. A
　　本题考查的是几个表示饮料的名词的区别。 drinks意为“饮料”，是一切饮料的总称， juice 意为“果汁”；water意为“水”；soft drinks 意为“不含酒精的饮料”。根据全句的意思，即“咖啡和茶是世界上最受欢迎的饮料”，选项A最符合题意，是正确答案。
22. D
　　本题考查的是和start配搭的介词的用法。start from 意为“从……开始”；start in 意为“开始，动手；（使）开始任职”；start on意为“开始做某事”；start with 意为“以……开始”。所以，结合句子的意思，即“许多加拿大人喜欢以一种咖啡来开始他们的一天”；可知正确答案应该为选项D。
23. B
　　本题考查的是定语从句中关系副词的用法。根据句子的意思“上班时，他们会有一个喝咖啡的休息时间，也就是人们可以停下来，放松一会儿，喝杯咖啡或吃点零食的时间”，再分析句子的结构， time 后缺少一个定语从句， 而这个关系词在句中作时间状语，所以应该选择关系副词when 来引导， 即正确答案应该为选项B。至于that，它是关系词， 不能作关系副词用，因此可以排除。
24. A
　　本题考查的是疑问副词的用法。通过分析上下文，第一段中说咖啡是人们最喜欢的饮料。很自然人们会问“为什么咖啡这么受欢迎呢？”文章第二三段的内容都是在分析咖啡受欢迎的原因，因此可以判断正确答案应该是why （在问原因），即正确答案为选项A。
25. B 
　　本题考查的是几个有up 构成的动词短语的区别。move up 意为“提前，上升”；wake up 意为“醒来”；come up意为“走近，上来；发芽；流行；被提出；发生，出现”；turn up意为“找到，出现，折起，卷起，突然发生”。根据句子的意思“再有，人们喜欢在早上和咖啡是因为它有助于他们快点醒来”可知，正确答案应该为选项B。
26. C
　　本题考查的是几个形容词的区别。Individual意为“个别的，个人的，个体的”；general 意味“一般的，普通的，概括的， 大体的”；national意为“国家的，民族的”；favorite意为“喜欢的，宠爱的，中意的”。再根据文章上下文及一些文化知识，可知“茶在中国、日本、英国、俄罗斯，是一种全国性的饮料”，所以正确答案应该为选C 。
27. B
　　本题考查的是几个名词的区别。phenomenon 意为“现象”；custom意为“习惯，风俗”；ritual意为“典礼；仪式，礼节”；belief意为“信仰，信任”。结合上下文的意思，即“在日本，喝茶还是一种社会习俗”；是人们长期以来形成的一种习惯，因此正确答案为选项B。
28. D
　　本题考查的是几个表示“方式，方法”的词的区别。method 意为“方法”；ways意为“情形，习惯，方式”；beliefs意为“信任，信仰”；rules意为“规则，惯例”。结合句子的意思，即“对于饮茶，还有一些特殊的规则”可知，正确答案应该为选项D。 

29. C
　　本题考查的是dry的不同形式的区别，以及一些常识性的知识。结合常识和句子的意思，沏茶是把沸腾的水倒在干的茶叶上，而不是鲜的茶叶上，因此选项D可以排除。再有，干茶叶是通过加工而变干的， 所以应该选择dry的过去分词dried，即选项C应该是正确答案。
30. A
　　根据上下文的意思，有些人喜欢喝茶时放些牛奶或奶油，有些人则不喜欢或讨厌在茶里放牛奶或奶油，而喜欢放蜂蜜、糖或柠檬。四个选项中只有选项A（hate） 具有“不喜欢”的含义，其余的选项均表示“喜欢”，因此都可以排除。

五、翻译
31. 庄稼在南方生长得很好。
32. 昨天晚上，比尔把车撞到墙上了。
33. 我不知道是谁打坏了窗户。

六、作文.
　　　　　　A Good Teacher to Remember （一位要记住的好老师）
　　I have many teachers in my life. The one that I can never forget is my middle school English teacher. She is not only knowledgeable but also influenced my whole life.
　　She was always patient, and never tired of helping her students. Whenever students turned to her with questions, she would not hesitate to help them. She was good at teaching and organizing her class very well. She was knowledgeable and her teaching was interesting and attractive. Before starting new lessons, she would give students several questions to guide their preparation, and tell them some background knowledge to enlarge their knowledge. In class, in order to emphasize important points, she would tell witty stories. She corrected our exercises timely and gave us feedback promptly. In this way her students could also learn from their mistakes.
　　With her help, all her students made rapid progress in English learning. Students liked her because they regarded her as their best friend as well as their best teacher.

